IB Pre HL:    Unit 1 F:  Intersections of Functions

  

Warm Up:

1)  How many real zeros does
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2)  Solve the inequality:   for x  
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Intersections of Functions
Example 1)     Given:  
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a)  How many points of intersection do these functions have?

b)  Find the points of intersection.

c)  Find x for 
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Example 2)  
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is tangent to 
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.  Find k.

Example 3)  Find the x values where 
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.  After finding your answer algebraically, support your answer graphically.
Practice)  Find the x values where 
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.  After finding your answer algebraically, support your answer graphically.
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